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They all face the same way!

Either up to the right or down A 3
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Wikthout a reference your brain
can see them bobh ways.

How did she kihow how many were
in Box A WITHOUT opening i 272
Because...
The number of marbles in
each box is DEPENDENT on
the number in the other box!
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Now the makh

ENTANGLEMENT in Einstein didnt brust...

the QUANTUM world

Quantum Grates are
no longer a math
game,
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Qubits become entangled in a
special way,

We could create the
following scenario:
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build Ehem'

Consider.. y= |O> and z= |0)

in this quantum circuik:
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2. To apply a 2-qubit gate, first
combine the probabilities
for y' and 2.
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There’s a 50/50 probability of
meoasuring them in the same state,
but never in opposite states!

makbrix V2
notation

#100)+0[01) +0]10) ++|11)

Inconceivable!
I dont believe it.
The math must

be wrong!
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3. The C-NOT Guate acts on z and y’
For this circuil, when one of the C-NOT
entangled qubits is measured,
the other is forced to take the

same value.




